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1. (a) Complete the table of values for y = 2x + 3

X -2 -1 0 1 2 3

y -1 1 3

(b) On the grid, draw the line y = 2x + 3, for values of x from -2 to 3.
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2. (a) Complete the table of values for x + y =5

X -1 0 1 2 3 4 5
y 2 1 0

(b) On the grid, draw the line x + y = 5, for values of x from -1 to 5.

3. (a) Complete the table of values for y = 6

x| 2]1lo 1| 2]3]4
y 6 | 6 | 6

(b) On the grid, draw the line y = 6, for values of x from -2 to 4.
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4.

(a) Complete the table of values for y = 9 - 2x

-2

-1

y

13

11

(b) On the grid, draw the line y = 9 - 2x, for values of x from -2 to 3.
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5. NO calculator - page 4
(a) Complete the table of values for y = 4x - 3

X -2 -1 0 1 2 3

y 7 3 1 5

(b) On the grid, draw the line y = 4x - 3, for values of x from -2 to 3.
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Answers 1) y = 2x + 3 2)x+y=53)y=6 4)y=9-2x 5)y=4x-3
Y Y
A y 4
10 i
9 g
s ; : ,
7 5 -

(¢ SN @)
&
@5

A y
=3 7/
»
lwd >
9 : 2=t ’
ra ] ] , 4
J \; 5
J /]
Vi
3 4
1 ) )
T J —
s}
< /
X 1
-7 1 1| _ ’
1 > T / 1
T h T / 1

Q@O To see licence visit http://creativecommons.org/licenses/by-nc-nd/4.0/. SRS Learning Limited



